
MCR 3U Graphing Rational Functions 

For each of the following: 

1. Simplify the function. 

2. Graph the Original Function using Nspire. 

3. Sketch the graph. 

4. Look at the Table of Values and complete the fourth column 

5. Adjust your graph as necessary and answer the question in the fifth column.  

 

Original       

Function 
Simplified Function Sketch the Graph 

Table of 

Values  

How does 

this point 

show up 

on the 

graph? 

𝑓(𝑥) =
𝑥2 − 4

𝑥 − 2
   (2, ________)  

𝑔(𝑥) =
2𝑥2 − 𝑥 − 1

𝑥 − 1
   (1, ________)  

ℎ(𝑥) =
1

𝑥 − 3
   (3, ________)  

𝑖(𝑥) =
2𝑥 + 1

𝑥 − 2
   (2, ________)  
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Original       

Function 
Simplified Function Sketch the Graph 

Table of 

Values  

How does 

this point 

show up 

on the 

graph? 

𝑗(𝑥) =
2𝑥 + 1

(𝑥 + 1)(𝑥 − 2)
   

(−1, ________) 
 

(2, ________) 
 

𝑘(𝑥) =
2𝑥 + 4

(𝑥 + 2)(𝑥 + 5)
   

(2, ________) 
 

(−5, ________) 
 

𝑙(𝑥) =
1

𝑥
+ 2   (0, ________)  

𝑚(𝑥) =
𝑥3 + 3

𝑥2 + 2
   

(−2, ________) 
 

(0, ________) 
 

(3, ________) 

 

Summary: 

 

 
There is a ______________ from a factor that is both in the _________________ and ___________________ 

 

There is a ______________ from a factor that is still in the _________________ after  ___________________ 
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